Unit #6 Test

TRIGONOMETRY
Name: _____________________________________
Multiple Choice
Identify the choice that best completes the statement or answers the question.
____
1.
Point P(x, y) is on the terminal arm of a 40° angle in standard position. The distance r between P and the origin is 7. To the nearest tenth, determine the coordinates of P.

	A.
	(5.4, 4.5)
	B.
	(1.2, 6.9)
	C.
	(4.5, 5.4)
	D.
	(9.0, 10.7)


____
2.
A helicopter is ascending vertically. On the ground, a searchlight is 125 m from the point where the helicopter lifted off. It shines on the helicopter and the angle the beam makes with the ground is 54. To the nearest metre, how high is the helicopter at this point?

	A.
	213 m
	B.
	101 m
	C.
	91 m
	D.
	172 m


____
3.
An angle  has its terminal arm in Quadrant 3. Which primary trigonometric ratio is greater than 0?

	A.
	sin 
	B.
	cos 
	C.
	tan 
	D.
	all 3 ratios


____
4.
Determine the reference angle for the angle 171° in standard position.

	A.
	171°
	B.
	99°
	C.
	261°
	D.
	9°


____
5.
Angle  is in standard position and its terminal arm lies in Quadrant 4. The sine of its reference angle is [image: image1.png]s



. Determine the exact value of [image: image2.png]cos &



.

	A.
	[image: image3.png]



	B.
	[image: image4.png]



	C.
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	D.
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____
6.
The point P(–2, 1) lies on the terminal arm of an angle  in standard position. Determine the measure of  to the nearest degree.

	A.
	63°
	B.
	153°
	C.
	297°
	D.
	–27°


____
7.
For DEF, write the Sine Law equation you would use to determine the measure of E.
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	C.
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	B.
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____
8.
For DEF, determine the measure of E to the nearest degree.
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	A.
	155°
	B.
	27°
	C.
	25°
	D.
	58°


____
9.
In PQR, determine the measure of Q to the nearest degree.
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	A.
	70°
	B.
	110°
	C.
	136°
	D.
	154°


____
10.
In KLM, determine the length of KM to the nearest tenth of a centimetre.
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	A.
	11.2 cm
	B.
	5.8 cm
	C.
	11.3 cm
	D.
	126.4 cm


____
11.
In PQR, determine the measure of R to the nearest degree.
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	A.
	42°
	B.
	86°
	C.
	83°
	D.
	7°


Short Answer

1.
Determine the height of this isosceles triangle to the nearest tenth of a centimetre.
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2.
Sketch this angle in standard position: [image: image17.png]306°
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3.
In DEF, DE = 4.7 m, EF = 2.9 m, and DF = 6.2 m; determine the measure of E to the nearest degree.
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